	1. Zaokrouhli:
na stovky
238 =
1398 =
15 894 =
13 751 =
894 =
	
na tisíce
3 826 =
12 896 =
327 831 =
1 284 =
32 726 =
	
na desítky
286 =
1972 =
3927 =
12 871 =
8 936 =


	2. Zaokrouhli:
na desetitisíce
237 271 =
12 832 =
394 592 =
73 891 =
926 733 =

	
na jednotky
2,98 =
15,82 =
7,91 =
5,291 =
0,921 =
	
na statisíce
274 582 =
186 391 =
924 571 =
2 894 872 =
4 392 284 =

	3. Zaokrouhli:
na desetiny
12,86 =
138,297 =
1,241 =
5,389 =
13,721 =
	
na tisíciny
3,8963 =
12,8121 =
4,8397 =
0,0833 =
0,17854 =
	
na setiny
5,842 =
1,258 =
11,7284 =
0,0894 =
2,7389 =


	4. Najdi v tabulkách:
	
	

	1242 =
232=
4582=
3652 =
	1,532 =
0,562 =
48,52 =
0,05632 =
	23602 =
154002 =
6380002 =
36 00002 =

	5. Vypočítej:

	

	



	6. Vypočítej:
 _________________________________________ _____________________________________________ ________________________________________________ _______________________________________________
	7. vypočítej:
( -5)2 =
-72 =
-(-4)2 =
-32 =
(-92) =
-(-102) =








	Vypočítej:
22 – 72 +32 = _____________
32 +22 -42 = _____________
(4-7)2 -32 = _____________
(12-32)2 = ______________
(42-52)2 = _______________
-22 + (-22)2 = _____________
32 –(-3)2 +42= ____________
	Vypočítej:

	Vypočítejte:
42 – 32 +(-32 )= ______________
12 +22 -52 = _________________
(5-11)2 +32 = ________________
(12-32)2 = ___________________
(22-12)2 = ___________________
52 + (-32+6)2 = _______________
22 –(-3)2 +52= _______________

	


	[-32 +42 - (-2)2 ]2=

(-12-22)2 -52 =

(2.52  - 5. 32)2 =

[-32 +(7- 9)2 ]- 32=

(-32)2 - (-22) =
	







	9. Vypočítejte:

	

	
	32 – 52 + (-2)2 =
(22-52)2 + 62 =
2.32+4. 22=
52 – (6- 9)2 =
(-32)2 + (-22) =










	1. Zaokrouhli:
na stovky
238 =
1398 =
15 894 =
13 751 =
894 =
	
na tisíce
3 826 =
12 896 =
327 831 =
1 284 =
32 726 =
	
na desítky
286 =
1972 =
3927 =
12 871 =
8 936 =


	2. Zaokrouhli:
na desetitisíce
237 271 =
12 832 =
394 592 =
73 891 =
926 733 =

	
na jednotky
2,98 =
15,82 =
7,91 =
5,291 =
0,921 =
	
na statisíce
274 582 =
186 391 =
924 571 =
2 894 872 =
4 392 284 =

	3. Zaokrouhli:
na desetiny
12,86 =
138,297 =
1,241 =
5,389 =
13,721 =
	
na tisíciny
3,8963 =
12,8121 =
4,8397 =
0,0833 =
0,17854 =
	
na setiny
5,842 =
1,258 =
11,7284 =
0,0894 =
2,7389 =





	1. Zaokrouhli:
na stovky
238 =
1398 =
15 894 =
13 751 =
894 =
	
na tisíce
3 826 =
12 896 =
327 831 =
1 284 =
32 726 =
	
na desítky
286 =
1972 =
3927 =
12 871 =
8 936 =


	2. Zaokrouhli:
na desetitisíce
237 271 =
12 832 =
394 592 =
73 891 =
926 733 =

	
na jednotky
2,98 =
15,82 =
7,91 =
5,291 =
0,921 =
	
na statisíce
274 582 =
186 391 =
924 571 =
2 894 872 =
4 392 284 =

	3. Zaokrouhli:
na desetiny
12,86 =
138,297 =
1,241 =
5,389 =
13,721 =
	
na tisíciny
3,8963 =
12,8121 =
4,8397 =
0,0833 =
0,17854 =
	
na setiny
5,842 =
1,258 =
11,7284 =
0,0894 =
2,7389 =




